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16% for Problem 1-5 and 20% for Problem 6.

1. Let 22 + 4% = r?, r > 0. Evaluate
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2. Find maximum area of the rectangle that can be inscribed in
the portion of parabola y? = 4px intercepted by the line z = a
where p,a > 0. '

3. Suppose that C'(x) and S(z) are two functions such that C'(z) =
—S(z) and S'(z) = C(z). Prove that

C%(x) + 5%(z)
15 constant.

4. Find o
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5. Let r is a real number not equal to an integer. Find
6. Find the volume of

8 = {(z1, 22, 73, 24)| 2] +m% + IE + :ﬁ <1}




B P b RSFUTFFEFTEDE A S0l
#8 SR [AKZ =F4)

£ I AR R
i~k 2R 855, ABERR o5 B HEXITABHE, 3785,
l. Fiad all a;awualues of A= [Ul'.l; E EE ] what s the nEl:r.isnrJ arred]
b b b oa

sufficient conditien for A e sJMm:tr-'c f'Hit-iu‘e th:‘nl'f..:?
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